ZTOMAENBFRBESR

FERRXERHE—E

- miE B | &EFHE
No. il (ha) | @/%) | ha) | ®F
1EZEWL 1.9 24 456
W DEITIEEIE IS 0.7 24 16.8
3| ER4E 3.8 24 91.2
4|88 MSAKE 1.4 6 8.4
5|88 4 ithSA 1.4 24 33.6
6| 773 —<—hr B AR 0.3 12 3.6
7/IBFS4 7 3—X5-1 0.5 6 3
8|IHFS4J3—X5-2 0.3 6 1.8
9|IBFS 47 3—X5-3 0.3 6 1.8
10[IHFS4Ja2—X5-4 0.4 6 2.4
11[[HFS 47 a—A5-5 0.2 6 1.2
12|E D KRGS 0.8 6 4.8
13[;ERILI5 0.5 6 3
14| A R5E[E 0.4 6 2.4
15/ I[HREE - UGS E 0.8 6 4.8
B 13.7 168 224 4
ERAREREE—E : T
o= miE [] Sit#=
No. il (he) | (@/%) | (ha) | B
B E3E 3.6 12 43.2
2|17 L—IL15 2.3 36 82.8
3| HER 1.1 12 13.2
A HEYE 0.7 24 16.8
HEEIR 1.9 12 22.8
&t 9.6 96 178.8
TtERERE=E—% :
o= miE m% |&FHE
No. il (he) | (@/%) | (ha) | B
1|52 = BRI 0.2 24 48
ALTEERS 0.7 24 16.8
3JtEFEIZAO 1.1 12 13.2
4[tEFEHI5 2 24 48
5| EEER 0.3 24 7.2
6l/\—J DR 0.6 12 7.2
1#%E 1.9 12 22.8
s|ENHE 2 24 48
;&R X 0.8 6 48
Hi 9.6 162 172.8
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